BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

0

—100

10*

1000

rm247 2/(407667 ~4849)=0.911
F ' T ' T ' T 7
' BlC 430810 75 ABIC 0. OOO AlogP 0.0000
i X 366878.53 Ax 0.000 AlogP 0.0000 1
R : '
_______________ - = = = ] __BIC
: T e .
L . ABIC —143228 1100 :( 1l X
i ' Mx* —143228 -62.5 |
4859 4859 4949
A | . | AC5 ] | AC5F | |
20 40 60 80 100 120
120 iterations
rm247 2/(407667 ~4949)=0.911
r ' T ' T ' T T
| ' BlC 430810 75 ABIC 0. OOO AlogP 0.0000 |
2 2
"""" 4859 -~ -~ - - "
I A
L , | , , |
20 60 80 100 120
120 iterations
Fe2 14% 1040+190 km/s
rm247 BLR 10860 NLR 900 km/s
T | T | T | T | | H
I S . __|BIR
it W 49497 ]
R ' AC, oL T ACF ]
. ! LS T e R B f T - . ! . !
20 40 60 80 100 120

120 iterations

kdh1 12-0ct-2021 08:43



